| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

IS L=
£ £
&) o
NG 2
> N
X Lo
© x
S x 5
—o M ©
o N o =
= ° —
Lo g
H
8
o £ )
5
g
Lo
i = o
; o
[
= 2
1 8
8 o
) £ IN]
— 3 1
! 8
o 8 o
N 2 1]
1 8 [
= z
sxoel areondnp H —
o _ o
I L=
£ £
O &)
Ju & 2
— > N
< QLo
° X
19 x (3]
] IS
£ S =
S [To)
o
I [To)
1
o
-l=
1
)
-
1
o
£
(=)
syoel] ae} M
L~ L=
£ £
&) o
3 o 2
— > N
< ISES]
°
o X
E -9 x ]
i J— @
g N Ehad
4 ERRY T2} »
H
o
3 s
<! < g
S =
2 3
5 -9 ®
S S
e - s
2 B ]
) B
3 E .
| ° .
o 2 .
i 2 L
s 2
SREHERD L syoenann
o o
S = LS~
£ £
O &)
RS ~
2 Lo
© x
.mk 5]
[} ©
£ S =
S (7o)
o )
o
S —
> 1
g
Il o
g N
=
3|
o ]
5 ]
z =

syoen syoen oney



	Contents
	Page 1


